F1 PRk 2 2 5 RN ERAT MBI E R R
BAE :mg L (FA A X UEEBRL) | pe-TEQ/L (¥4 4% L H)

x5 1 2 3 4 5 6 7 8 9 10
W E H R TRHEKX HEIX e X SURX B X FHX i) 11X HEX KHX KHX
IR < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BTV < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
#n < 0.002 0. 002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 0. 002
A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0. 005 < 0. 005 < 0. 005 < 0.005 < 0.005
FakER < 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005
T LR L KER — — — — — _ — — — —
PCB — — — < 0.0005 — < 0.0005 — — < 0.0005 —
vrsuauaAHR < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002
IR ArES < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002
ELE=LE ) ~— — — — < 0.0002 — < 0.0002 — — < 0.0002 —
AV A= — — — < 0.0002 — < 0.0002 — — < 0.0002 —
L1->ZurxFLor|<0.0002 0.0072 [< 0.0002 < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002
B |Le-vsoozrLy @ 0.0008 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 |< 0.0004
5 va-le-vzaaxFrre| 0 0.0006 [ < 0.0002 [ < 0.0002 [< 0.0002 [<0.0002 [< 0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002
i boxon2-vraazrie | <0.0002 [ < 0.0002 [ < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
e [, 1-rUZaa=Z2|< 0.0002 0.0029 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
W1, rVznoxxy| — — — < 0.0002 — < 0.0002 — — < 0.0002 —
HIrVZ7ea=F1r> [<0.001 < 0.001 0.001 < 0.001 0. 001 < 0.001 0.001 0.001 < 0.001 0.001
F I 7mnoxFL|<0.0002 0.0073 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 0.0022 | < 0.0002
L3-vzuuruXy|  — — — < 0.0002 — < 0.0002 — — < 0.0002 —
T T A — — — < 0.0006 — < 0.0006 — — < 0.0006 —
T — — — < 0.0003 — < 0.0003 — — < 0.0003 —
FARTNT — — — < 0.0003 — < 0.0003 — — < 0.0003 —
_¥ < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
TR SR R O R R 22 0P 2.2 6.0 0.41 0.16 0.012 < 0.012 4.1 14 7.2 7.9
LR 2.2 6.0 0. 41 0.15 < 0.01 < 0.01 4.1 14 7.2 7.9
G E[ TS 0.003 < 0.002 < 0.002 0.014 0.002 < 0.002 < 0.002 < 0.002 0. 002 < 0.002
BT S 0. 02 0. 02 0. 05 0. 04 0. 04 0.10 0. 04 0.02 < 0.02 < 0.02
ERES 0. 04 0.01 0.01 0.01 0.02 0.03 0.01 0.02 0.01 0. 02
1, 4- A% — — — < 0.005 — < 0.005 — — < 0.005 —
gﬁit"ﬁmmt KU — — — — — — — — < 0.00004 —
%ﬁé‘ B % — — — — — — — — < 0.02 —
"oy 5 — — - - - — — — < 0. 0002 —
A XXV HE — — — — — — — 0. 067 —
B 9o DfED A FHEICHR L CEREEENED b TV 5, % F#EJH Ty I TEREEERIE 2 R T,

ISR D BILR T, FHENEDRNEENH D,




AL mg L (I AAFTV RS | pe-TEQL (XA AF T HH)

&EE 11 12 13 14 15 16 17 18 19 20
H B S HHEHAX | #HHAX | #HHAKX BEAR X HR P X A2 X BEX X S ARG X
BRI TN < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
£ < 0.002 < 0.002 < 0.002 0. 005 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 002
A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
fitt 7 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0. 005
TR ER < 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005
7 L X LK ER — — — — — — — — — —
PCB — — — < 0.0005 — — — — < 0.0005 —
vrsana AR < 0.0002 |[< 0.0002 |< 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
R AES < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [<0.0002 [< 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
ke =1% ) ~v— — — — < 0.0002 — — — — < 0.0002 —
,2-V/wonx X — — — < 0.0002 — — — — < 0.0002 —
L,L1-YZ7ueexF L [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [<0.0002 [< 0.0002 [< 0.0002
B oLoe-vsoozsry @ [ < 0.0004 0.0006 |[< 0.0004 |< 0.0004 0.0008 | < 0.0004 0.0033 [< 0.0004 |< 0.0004 |< 0.0004
5 v2-1,2-v/maxF v | <0, 0002 0.0004 |[< 0.0002 |< 0.0002 0.0006 | < 0.0002 0.0031 [< 0.0002 |< 0.0002 [< 0.0002
H booxoz-vrea=rre | < 0.0002 [ < 0.0002 [ < 0.0002 [< 0.0002 [< 0.0002 < 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
L1, 1-RY 7oz 0.0002 [ < 0.0002 [<0.0002 [< 0.0002 [<0.0002 [< 0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002
H [, ,-r0zumxxy]| — — — < 0. 0002 — — — — < 0.0002 —
HlrVZeax=F1r> [<0.001 < 0.001 < 0.001 < 0.001 0. 004 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhrI7moxFL]<0.0002 0. 069 < 0.0002 | < 0.0002 0.0014 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
L3-vzurrsaxXs|[  — — — < 0.0002 — — — — < 0.0002 —
FU T A — — — < 0.0006 — — — — < 0.0006 —
T — — — < 0.0003 — — — — < 0.0003 —
F AT NT — — — < 0.0003 — — — — < 0.0003 —
2 < 0.0002 [<0.0002 < 0.0002 [< 0.0002 |< 0.0002 [<0.0002 [<0.0002 [< 0.0002 |< 0.0002 |[< 0.0002
A% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
B2 SR R OV e 22 g 0P 1.9 4.5 6.3 < 0.012 4.8 6.2 0.018 < 0.012 < 0.012 3.3
HEEEE R 1.9 4.5 6.3 < 0.01 4.8 6.2 < 0.01 < 0.01 < 0.01 3.3
AR 2 R < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 008 < 0.002 < 0.002 < 0.002
BT S 0. 04 0. 02 < 0.02 0. 06 0. 02 0. 02 0. 05 0. 05 0. 36 0. 02
ERES 0.01 0. 02 < 0.01 0. 06 0.01 < 0.01 < 0.01 0. 04 0.12 < 0.01
14— A% — — — < 0.005 — — — — < 0.005 —
gﬁ:t"ymmt KU — — — < 0.00004 — — — — < 0.00004 —
By T — — — 0.18 — — — — < 0.02 —
Blos - — — < 0. 0002 — — — — < 0.0002 —
A F XL HE — — — 0. 067 — — — — 0.072 —




AL mg L (I AAFTV RS | pe-TEQL (XA AF T HH)

H5 21 22 23 24 25 26 27 28 29 30
H B S A X TG X TG X JENL X JENL X JERVAES T i X T i X LRI | X
BRI TN < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
fitt 7 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
KK ER < 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005
7L L KR — — — — — — — — — —
PCB — — — — — < 0.0005 — — — < 0.0005
vrsana AR < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
R AES < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [<0.0002 [< 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
ke =1% ) ~v— — — — — — < 0.0002 — — — < 0.0002
,2-V/wonx X — — — — — < 0.0002 — — — < 0.0002
,1->ZuuexF L[ 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
B |Le-vsoozrLy @ 0.012 0. 0004 0.0004 |[< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004 |< 0.0004
5 vz-l2-vsmnxFry| 0,012 0. 0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
H booxonz-vrea=ree | 0.0003 [ < 0.0002 [ < 0.0002 [< 0.0002 [< 0.0002 < 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
# (1,1, 1~V 7= < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
H [, ,-r0zumxxy]| — — — — — < 0. 0002 — — — < 0.0002
HI NV ZeoxFL o 0. 002 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
T hrZ7Z7vanxzFLr| 0.0005 [<0.0002 |< 0.0002 [< 0.0002 |<0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |[< 0.0002
L3-vzurrsaxXs|[  — — — — — < 0.0002 — — — < 0.0002
FU T A — — — — — < 0.0006 — — — < 0.0006
T — — — — — < 0.0003 — — — < 0.0003
FH_ T — — — — — < 0.0003 — — — < 0.0003
A2 < 0.0002 [<0.0002 < 0.0002 [< 0.0002 |< 0.0002 [<0.0002 [<0.0002 [< 0.0002 |< 0.0002 |[< 0.0002
A% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R O R () 11 5.7 0.018 0.023 < 0.012 0. 070 < 0.012 < 0.012 < 0.012 < 0.012
HEEEE R 11 5.7 < 0.01 0. 02 < 0.01 0.05 < 0.01 < 0.01 < 0.01 < 0.01
AR 2 R < 0.002 < 0.002 0. 008 0.003 < 0.002 0. 020 < 0.002 < 0.002 < 0.002 < 0.002
BT S 0. 02 0. 02 0. 04 0. 06 0. 05 0. 04 0. 05 0. 02 0. 04 0.11
E¥ES 0. 02 < 0.01 < 0.01 0.03 0.03 0.03 0.03 0.03 0.01 0.17
14— A% — — — — — < 0.005 — — — < 0.005
gﬁ:lﬁ&mmt KU — — — — — < 0.00004 — — — —
By T — — — — — 0. 05 — — — —
Blos — - - — — < 0. 0002 — — — —
A F XL HE — — — — — 0. 067 — — — —




AL mg L (I AAFTV RS | pe-TEQL (XA AF T HH)

& 31 32 33 34 35 36 37 38 39 40
W E M NEFH | NEFm | NEFH | NEFH | NEFH SE)I B = T T
IR < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
A (TZAEPA < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0. 005
TR IKER < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005
7 L X LK ER — — — — — — — — — —
PCB < 0. 0005 — — — < 0. 0005 — < 0. 0005 — — —
vrsuan AR < 0.0002 [< 0.0002 [<0.0002 < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 ]< 0.0002 [< 0.0002
e RIES < 0.0002 [< 0.0002 [<0.0002 < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 ]< 0.0002 [< 0.0002
ke =1% /) ~— | < 0.0002 — — — < 0. 0002 — < 0. 0002 — — —
,2-y7uaox X | <0.0002 — — — < 0. 0002 — < 0. 0002 — — —
L1-vZuaaxF L[ 0.0002 0.0002 [< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 0. 0006
7 |Le-vronzyrry @ [<0.0004 [<0.0004 [< 0.0004 [< 0.0004 |< 0.0004 0.0011 [< 0.0004 |< 0.0004 |< 0.0004 0. 0015
5 vx-L2-vzaazrro | <0.0002 [ < 0.0002 | < 0.0002 |< 0.0002 |< 0.0002 0.0009 [< 0.0002 |< 0.0002 |< 0.0002 0.0013
J pooanevraa=ree [ <0.0002 [ < 0.0002 | < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002
e [, 1-rUZuaax|< 0.0002 0.0005 [< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 0. 0002
H [ L2-rVZuaxx|< 00002 — — — < 0. 0002 — < 0. 0002 — — —
HlrVZeax=F1r> [<0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0. 001 < 0.001 0.015
FhZ77ooxF L] <0.0002 [<0.0002 < 0.0002 [<0.0002 [< 0.0002 |< 0.0002 0.0012 [< 0.0002 |< 0.0002 0.0018
1,3-Y 7 mu a2 < 0.0002 — — — < 0. 0002 — < 0. 0002 — — —
T 7 A < 0. 0006 — — — < 0. 0006 — < 0. 0006 — — —
a2 < 0.0003 — — — < 0. 0003 — < 0.0003 — — —
FAX T < 0.0003 — — — < 0. 0003 — < 0.0003 — — —
2 < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |[<0.0002 [< 0.0002 [< 0.0002 [< 0.0002
wL < 0.002 < 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0. 002 < 0. 002
TR 2 R O R R 2 (P 2.0 3.1 2.1 3.7 2.4 0. 26 6.9 7.3 1.3 3.0
HEEEE R — — — — — 0. 26 6.9 7.3 1.3 3.0
AR 2 R — — — — — < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
TS 0.11 0.0 0.07 0.07 0. 03 < 0.02 0. 03 0. 02 0. 06 0. 02
ERES < 0.01 < 0.01 < 0.01 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 0. 02
1,4~ A FH < 0.005 — < 0.005 — < 0.005 — — —
w |rEZ7uek KU~ [<0.0002 — — — < 0. 0002 — — — — —
g 2 % 0. 0006 — — — < 0. 0002 — — — — —
Blos < 0. 0002 — — — < 0.0002 — — — — —
A F XL HE 0. 083 — — — — — — — — —




AL mg L (I AAFTV RS | pe-TEQL (XA AF T HH)

&EE 41 42 43 44 45 46 47 48 49 50
W E HR W & AR T T T T /NS /N H B HORF | B
BRI TN < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
£ < 0.002 < 0.002 < 0.005 < 0.005 < 0.005 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
A=A < 0.01 < 0.01 < 0.04 < 0.04 < 0.04 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
fitt 7 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0. 005
TR ER < 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005
7 L X LK ER — — < 0.0005 |[< 0.0005 |< 0.0005 — — — — —
PCB — — — — < 0.0005 — — — — —
vrsana AR < 0.0002 [< 0.0002 |< 0.002 < 0.002 < 0.002 < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
R AES < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [<0.0002 [< 0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
ke =1% ) ~v— — — — — < 0.0002 — — — — —
,2-V/wonx X — — — — < 0.0004 — — — — —
L1->z7aoxF Lo [<0.0002 |< 0.0002 [< 0.002 < 0.002 < 0.002 < 0.0002 0.0004 |[< 0.0002 |< 0.0002 [< 0.0002
B o[-y soo=erry @ [<0.0004 | < 0.0004 [ < 0.004 < 0.004 < 0.004 < 0.0004 0.0010 [< 0.0004 |< 0.0004 |< 0.0004
5 vz-12-vsmaxFrr| <0.0002 [ < 0.0002 | < 0.002 < 0.002 < 0.002 < 0.0002 0.0008 [< 0.0002 |< 0.0002 [< 0.0002
H booxozvrea=rre | <0.0002 [ < 0.0002 | < 0.002 < 0.002 < 0.002 < 0.0002 [<0.0002 [< 0.0002 [< 0.0002 [< 0.0002
L1, 1-rY 7o =4200<0.0002 [<0.0002 [<0.0006 [< 0.0005 |[< 0.0005 |< 0.0002 0.0019 [< 0.0002 |< 0.0002 [< 0.0002
H [, ,-r0zumxxy]| — — — — < 0.0006 — — — — —
HlrVZeax=F1r> [<0.001 < 0.001 < 0.002 < 0.002 < 0.002 < 0.001 0. 002 < 0.001 < 0.001 < 0.001
T 77z F L ]<0.0002 [<0.0002 |<0.0005 [< 0.0005 |< 0.0005 0.0013 0.0010 0.0002 | < 0.0002 0. 0082
L3-vzurrsaxXs|[  — — — — < 0.0002 — — — — —
FU T A — — — — < 0.0006 — — — — —
T — — — — < 0.0003 — — — — —
FH_ T — — — — < 0.002 — — — — —
A2 < 0.0002 [< 0.0002 |< 0.001 < 0.001 < 0.001 < 0.0002 |[<0.0002 [< 0.0002 [< 0.0002 [< 0.0002
A% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
TR 2 R O R R 2 (P 6.0 0.077 < 0.1 3.4 4.2 7.5 5.6 3.1 2.7 6.3
HEEEE R 6.0 0.07 — — — 7.5 5.6 3.1 2.7 6.3
AR 2 R < 0.002 0. 007 — — — < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
BT S 0. 02 0. 04 < 0.08 < 0.08 < 0.08 < 0.02 0.03 0.03 < 0.02 0. 02
ERES 0. 03 0.01 < 0.02 < 0.02 0. 02 0.01 0. 02 0. 02 0.03 0. 02
14— A% — — < 0.005 — — — — —
gﬁiﬁwﬂ\mt FU — — — — < 0.00004 — — — — —
%éévyﬁy — — — — < 0.02 — — — — —
Blos — - — — < 0. 0002 — — — — —

AL X HH




AL mg L (I AAFTV RS | pe-TEQL (XA AF T HH)

&EE 51 52 53 54 55 56 57 58 59 60
A E S ESRVADT fwAEM LiERami) il TEWETT | RUACRERT | sUEATILT | 2T T i PR
BRI TN < 0.001 < 0.001 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
£ < 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
A=A < 0.01 < 0.01 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
fitt 7 0. 008 < 0.005 0. 005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0. 005
TR ER < 0.0005 | < 0.0005 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005
7 L X LK ER — — — — — — — — — —
PCB < 0.0005 — — < 0.0005 | < 0.0005 — < 0.0005 — — —
vrsana AR < 0.0002 | < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
R AES < 0.0002 | < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
ke =1% /) ~— | < 0.0002 — — < 0.0002 | < 0.0002 — < 0.0002 — — —
,2-y7uaox X | <0.0002 — — < 0.0002 | < 0.0002 — < 0.0002 — — —
LI->ZooxF Lo 0.0002 |< 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002

B |Le-vsoozrLy @ 0.0014 | < 0.0004 0.0005 |[< 0.0004 |< 0.0004 0.0005 |[< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004

5 vz-l2-vsmax=Frv| 0 0.0012 | < 0.0002 0.0003 [ < 0.0002 |< 0.0002 0.0003 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002

H booxoz-vrea=rre | <0.0002 | < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002

e (1,1, 1-rV Z7mre=x2]<0.0002 |< 0.0002 0.0002 |[< 0.0002 |< 0.0002 0.0004 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002

H[L1,2-r0zaaxx < 0.0002 — — < 0.0002 | < 0.0002 — < 0.0002 — — —

HI NV ZeoxFL o 0. 008 < 0.001 0. 003 < 0.001 < 0.001 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhrZ7ooxFLr| 0.0002 | < 0.0002 0.0021 [< 0.0002 |< 0.0002 0.0021 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002
1L,3-Yruan7a~<r| < 0.0002 — — < 0.0002 | < 0.0002 — < 0.0002 — — —

F 7 I < 0.0006 — — < 0.0006 | < 0.0006 — < 0.0006 — — —
Ty < 0.0003 — — < 0.0003 | < 0.0003 — < 0.0003 — — —
F AT NT < 0.0003 — — < 0.0003 | < 0.0003 — < 0.0003 — — —
2 < 0.0002 [ < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 |[< 0.0002
A% < 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R O R () 1.5 3.4 5.9 0.39 5.0 5.7 2.0 0.74 < 0.012 7.8
HEEEE R 1.4 3.4 5.9 0. 39 5.0 5.7 2.0 0.73 < 0.01 7.8
AR 2 R 0. 030 < 0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 0.016 < 0.002 < 0.002
BT S 0. 03 0. 04 0. 02 < 0.02 0.03 0.03 0. 02 0. 04 0. 06 0.03
ERES 0.01 0. 02 0. 02 < 0.01 < 0.01 < 0.01 0.07 < 0.01 0.01 0. 02
14— A% < 0.005 — — < 0.005 < 0.005 — < 0.005 — — —
g |TErymak RFY v [<0.00004 — — — < 0.00004 — — — — —
By T 0. 02 — — — < 0.02 — — — — —
Blos 0.0011 — — — < 0.0002 — — — — —
A F XL HE 0. 067 — — — 0. 067 — — — — —




BAL :mg L (A AT HHERS) | pe-TEQ L (XA A HH)

o IH H B
& 61 62 63 64 65 z/‘g Eﬁ” o eploken —
WE | BRI | st | Gman s = R sshi)
W bE S| A | BT | Bomir | s || Mok W T
IR < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 65 | < 0.001 0 0.01 LI'F
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 65 [< 0.1 0 BRI &
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 65 0. 005 0 0.01 LR
A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 65 |<0.04 0 0.05 LLF
fitt 7 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 65 0. 008 0 0.01 LR
TR IKER < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 65 | < 0.0005 0 0.0005 LLF
7 VXL KER — — — — — 3 — 0 BHILRWZ L
PCB < 0.0005 — — < 0. 0005 — 17 |< 0.0005 0 Y S
vrsuan AR < 0.0002 [< 0.0002 [< 0.0002 ]< 0.0002 |< 0.0002 65 0. 0002 (%) 0 0.02 UL'F
e RIES < 0.0002 [< 0.0002 [< 0.0002 ]< 0.0002 |< 0.0002 65 | < 0.0002 0 0.002 LAF
ke =1% /) ~— | < 0.0002 — — < 0. 0002 — 17 < 0.0002 0 0.002 LI'F
L,2-Vruonux Xy [ <0.0002 — — < 0. 0002 — 17 [ < 0.0004 0 0.004 LLF
L1->Z7aoxF L | < 0.0002 0.0003 [< 0.0002 |< 0.0002 |< 0.0002 65 0. 0072 0 0.1 LL'F
7 |Le-vronzyrry @ [<0.0004 [<0.0004 [< 0.0004 [< 0.0004 |< 0.0004 65 0.012 0 0.04 LL'F
5 vx-L2-vzaazrro | <0.0002 [ < 0.0002 | < 0.0002 |< 0.0002 |< 0.0002 65 0.012 — —
H pooaevraa=ree [ <0.0002 [ < 0.0002  |< 0.0002 | < 0.0002 |< 0.0002 65 0. 0003 (%) — —
e [, 1-rUZuaax|< 0.0002 0. 0003 0.0020 [< 0.0002 |< 0.0002 65 0. 0029 0 1 LF
H [, L2-rVZzaaxx < 0.0002 — — < 0. 0002 — 17 < 0.0006 0 0.006 AT
HlrVZeax=F1r> [<0.001 < 0.001 0. 001 < 0.001 0.001 65 0.015 0 0.03 LK
FhI77ooxF L] <0.0002 [<0.0002 < 0.0002 [<0.0002 |< 0.0002 65 0. 069 1 0.01 LL'F
1L,3-Yruan7a~<r| < 0.0002 — — < 0. 0002 — 17 < 0.0002 0 0.002 LAF
T 7 A < 0.0006 — — < 0.0006 — 17 [ < 0.0006 0 0.006 VLT
Ty < 0.0003 — — < 0.0003 — 17 [ < 0.0003 0 0.003 LIF
F AT NT < 0.0003 — — < 0.0003 — 17 < 0.002 0 0.02 LL'F
NP < 0.0002 [< 0.0002 < 0.0002 |[< 0.0002 |< 0.0002 65 [< 0.001 0 0.01 LL'F
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 65 |< 0.002 0 0.01 LL'F
Rk R N O R e e s O 5.5 6.5 8.1 1.5 0.85 65 14 2 10 LI'F
HEEEE R 5.5 6.5 8.1 1.5 0.85 57 14 — —
AR 2 R < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 57 0. 030 — —
TS 0. 06 0. 02 0. 03 0. 04 0. 05 65 0. 36 0 0.8 LL'F
ERES 0. 02 < 0.01 0. 02 0. 02 < 0.01 65 0.17 0 1 JLF
1,4~ A FH < 0.005 — — < 0.005 — 17 < 0.005 0 0.05 LLF
w [rEZ7oek FU Y [<0.00004 — — — — 10 [< 0.0002 0 ( 0.0004 DLF )
g 2 % < 0.02 — — — — 10 0.18 0 (0.2 IF)
Blos < 0.0002 — — — — 10 0. 0011 0 ( 0.002 LLF )
A F XL HE 0. 067 — — — — 8 (k) 0. 083 0 1 UIF

(%) ERTIRMEDE 2 D No. 43~45% [5: < HuE D e R,
(k) XA A% VHITKERES B ORI RIE R TIEARWR, &L LTHEREZER L GEMiL, Jhiga®k) |




F* 2

1 fEERtESE R K

FR2 2HFEFEHFRADMRFE =508 EHER

M RO TR AL YA 2 R T,

O fifgletEsR (HEX)

(mg/L)

IH R 22 38 M OV A i 22 52
No.| JHIEHh flEety | dERYERTE ik
1|HEKX 12 12 <0.002 [H22k s A5 i, 14mg/L,
2(H B X 8.1 8.1 <0. 002
3|H X 6.0 6.0 <0.002
4 H B X 10 10 <0. 002
5| H X 9.6 9.6 <0.002
6 H X 13 13 <0. 002
Pl e 10 AR — —
2 fHFEMEERE R OB ER BEX) (mg/L)
AR 22 38 M OVARURH A 2 52
No. | JIE Hit L HEetE | dEAHERTE =
1| A X 11 11 <0.002 |H22BEHLFH ARG RIL, 11mg/L,
2| AR AB X 8.7 8.7 <0. 002
3|IHRAE X 0. 20 0. 20 0. 005
4| R A X 11 11 <0. 002
5|HRE X 10 10 <0. 002
6| PR A X 15 15 <0. 002
Pt b JL e 10 LLF — —




# 3 Rk 2 2 SR REAR A s B E R R VMR A I BB R R,
(HAT : mg L)

| Lemvrme=FLy Y e L
o o / " i |1 Y7 PP ey A NI — — i
No. | I & 1 & | &> 7| A PN it Jreget mETF /y‘yf:u e yrap|r=fL ooz mmert | wasEer | SoH | 1FO0F
Ly K v Ly Zed P
TFLy | =F L =R IR
1 [FAREK — <0. 002 — — — — — — — — — — — — — — —
2 |FpaRX — 0. 003 — 0. 021 — — — — — — — — — — — — —
3 |HRIX - - - - - — - — — — — — — — — — e
4 | PEIX — — — — — <0.0002 | 0.020 | 0.019 | 0.0005 | — <0.001 [<0.0002 | — — — — —
5 |HrfE X — — — — — — — — — — — — 9.8 9.8 <0.002 | — —
6 [ X — — — - - - — - - - - - 11 11 <0.002 | — -
7 |BreE X — — — — — — — — — — — — 14 14 <0.002 | — —
8 B X — — - - - - - - - - - - 5.7 5.7 <0.002 | — -
9 |BrfE X — — — — — <0.0002 | 0.0047 | 0.0045 |<0.0002 | — 0.007 | 0.15 — — — — —
10 | 30X — — — — — — — — — — — — 13 13 <0. 002 — —
11 |30 X — — — — — — — — — — — — 6.4 6.4 <0. 002 — —
12 | 30X — — — — — 0.015 [<0.0004 [<0.0002 [<0.0002 | 0.0097 [<0.001 [<0.0002 | — — — — —
13 |30 X — — — — — — — — — — — — 14 14 <0. 002 — —
14 |iTHEX — 0.012 — — — — — — — — — — — — — — —
15 | fn 111X — — - - - SORBI ) e R | sseoem (R | ) ol $F2) el ) seocil ) sl B el ) e 2| — -
16 |d)11IX — — — — — — — — — — — — 10 10 <0. 002 — —
17 |BEKX — — — — — — — — — — — — 9.5 9.5 <0. 002 — —
18 |HEKX — — — — 0.0081 | — — — — — — — — — — — —
19 | KHAK — — — — — — — — — — — — 10 10 <0. 002 — —
20 [KHX — — — — — 0.0005 | 0.070 | 0.069 | 0.0003 | — 0.058 | 0.0008 | — — — — —
21 [KHX — — — — — 0.0003 | 0.018 | 0.016 | 0.0015 |[<0.0002 | 0.008 | 0.038 — — — — —
22 [ KHX — — — — — 0.0010 | 0.44 0. 44 0.0014 | 0.0041 | 0.49 0. 25 — — — — —
23 [ KHX — — — — — 0.0010 | 0.14 0.14 0.0016 | 0.0006 | 0.022 | 0.051 — — — — —
24 [HHEAX — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.0052 | — — — — —
25 |HEHA X — — — — — <0.0002 | 0.0004 | 0.0002 |<0.0002 [ — <0.001 0. 043 — — - — —
26 [HHHAX — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.0040 | — — — — —
27 | A X — - — — — — — — — - — — 6.0 6.0 <0.002 — -
28 [tHAX — — — — — — — — — — — — 12 12 <0. 002 — —
29 [HEA X — <0. 002 — — — — — — — — — — — — — — —
30 [#Z3 X — — — — — <0.0002 | 0.0006 | 0.0004 [<0.0002 | 0.0002 | 0.012 | 0.015 — — — — —




# 3 Rk 2 2 SR REAR A s B E R R VMR A I BB R R,
(HAT : mg L)

R L A _ | g R O R e O

L1-v7 ‘ — LL1-h MUzu|Fh52
moTF Ao LZEL2 Y yun nxFL | nnas REERE | mERgERE | S F | 1ED
Ly b A Al NP A v Ly pee g2z

TF L | ZF L ES ES

g
=
(Y

N W s | ReTol w0 s | B

SE
%“ﬁf
>

32 |[#2il X — — — - — 0.0003 | 0.0017 | 0.0015 |<0.0002 [ 0.0004 | 0.004 0. 057 — - — — —

33 [ _ _ _ — — — — — — — — — 10 10 <0.002 — -

35 | B[ — <0.002 | — — — — — — — — — — — — — — —

36 [55)11X — 0.009 | — — — — — — — — — — — — — — —

37 [ — — — — - - - — — — — — — — — 0.90 | —

38 | kI - — - — — — — — — — — — 13 13 <0.002 — —

39 | A& X — — - - <0.0002 |<0.0002 |<0.0004 [<0.0002 [<0.0002 [ — <0.001 [<0.0002 [ — — — — —

40 | BAGIX - — — — — — — — — — — — 0. 66 0.66  [<0.002 — —

41 | BRI — — - - — — — — — — — — 10 10 <0.002 - -

42 | B IX e 2 — e 2 — — — — — — — — — s 2 s 2 [ 2 — —

43 |G X <0.01 - 0.08 | — — — — — — — — — — — — — —

44 | BAEIX - - - — — — - - - - - - 65 65 0.10 — —

45 | X - <0.002 — — — — — — — — — — — - — — —

46 |#4F5 IX - s F| — - - s 2 [ 2 o 2 e 00 | — s 2 e 2 | — - - - -

A7 | X — - - — — — — — — — — — 11 11 0. 005 - -

48 | IX - — - — - - - - - - - - 9.6 9.6 <0.002 — —

49 |FFE X — — — — — — — — — — — — 9.9 9.9 <0.002 — -

50 |#HE X - — - — — <0.0002 | 0.0006 | 0.0004 [<0.0002 [ 0.0006 | 0.001 0.018 — - — — —

51 |#E X — — - - - <0.0002 | 0.0006 | 0.0004 |<0.0002 | 0.0007 | 0.001 0.015 — — - — —

52 |#HE X - — - — — <0.0002 | 0.0008 | 0.0006 |<0.0002 [ 0.0006 | 0.002 0. 026 — - — — —

53 |HHE X — — - - - 0.0002 | 0.090 0. 089 0.0007 | — <0.001 [<0.0002 [ — — - — —

54 B A X - — — 0. 065 — — — — — — _ _ _ _ — — —

55 |11 X — — — 0.016 | — — — — — — — — — — — — —

56 |71.7)11 X — — — 0.019 | — — — - - - - - - - - - -

57 V11X — — — 0.013 | — — — — — — — — — — — — —

58 [\ E+ifi — — — — <0.0002 |<0.0002 | 0.0004 [ 0.0002 [<0.0002 | 0.0006 | 0.001 0.0013 | — — — — —

59 [\ ET1f - - - - <0.0002 |<0.0002 | 0.0004 | 0.0002 [<0.0002 [ 0.0006 [ 0.001 0.0012 | — - — — —

60 [\ FE+Fifi — — — — <0.0002 |<0.0002 |<0.0004 [<0.0002 [<0.0002 |<0.0002 |<0.001 0.0004 | — — — — —




# 3 Rk 2 2 SR REAR A s B E R R VMR A I BB R R,
(HAT : mg L)

| Le2=vrarxzFLy B | s g oEREr R Y
No. | B & #1 45 [ 7: & ANl - PuEAt 1’17;_/7 VA—1,2— [ vA-1, 2= 11’ bioh ]\31711 4 ]\27 Al L e 53
o. | # & M| Ey T v i PN i o U‘i‘/?‘ Soun|Sron )3—_7;!;! = ‘/%1/ ‘jzy‘f ﬁ%b%!i ﬁﬁé@ﬁ& SoF | 1EHFH
TFLy|=FLry AR AR
61 [~2)IT — — — — 0.0018 [<0.0002 |<0.0004 [<0.0002 |<0.0002 | — 0.003 | 0.0003 | — — — — —
62 [>2)1T — — — - 0.0003 | 0.0010 | 0.0051 | 0.0049 |<0.0002 | 0.0004 | 0.016 [<0.0002 | — — — — —
63 [>T — — — — <0.0002 | 0.0005 | 0.0008 | 0.0006 [<0.0002 | 0.0007 | 0.005 [<0.0002 | — — — — —
64 |EBE T — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.015 — — — — —
65 | PR i — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.0002 | — — — — —
66 |E R T — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.020 — — — — —
67 | PR i — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.0092 | — — — — —
68 | R T — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.018 — — — — —
69 | U i — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.019 — — — — —
70 | R T — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.0015 | — — — — —
71 (= — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 | 0.0083 | — — — — —
72 | ZJET — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | 0.0002 | 0.001 [ 0.045 — — — — —
73 | = — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 |<0.0002 | 0.001 [ 0.010 — — — — —
74 | ZJET — — — — — <0.0002 [<0.0004 [<0.0002 |<0.0002 | 0.0002 | 0.001 | 0.041 — — — — —
75 |F A — — — — — <0.0002 | 0.0016 | 0.0014 [<0.0002 | — 0.003 | 0.056 — — — — —
76 | T — — — — — <0.0002 | 0.0010 | 0.0008 [<0.0002 | — 0.002 | 0.028 — — — — —
77 [ — — — — <0.0002 | 0.0005 | 0.0021 | 0.0019 [<0.0002 [<0.0002 | 0.019 | 0.0019 | — — — — —
78 [ — — — — <0.0002 | 0.012 | 0.0015 | 0.0013 [<0.0002 | 0.0006 | 0.048 | 0.0002 | — — — — —
79 [ — — — — <0.0002 [<0.0002 | 0.0037 | 0.0035 [<0.0002 |[<0.0002 | 0.003 [<0.0002 | — — — — —
80 |FAm il — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — 0.001 | 0.0023 | — — — — —
81 |MT T — — — — — — — — — — — — 14 — — — —
82 [HTH i — — — — <0.0002 [<0.002 [<0.004 [<0.002 [<0.002 [<0.0005 [<0.002 | 0.0014 | — — — — —
83 [WT M i — — — — <0.0002 [<0.002 [<0.004 [<0.002 [<0.002 [<0.0005 |{<0.002 | 0.0023 | — — — — —
84 [H]H i — — — — <0.0002 [<0.002 [<0.004 [<0.002 [<0.002 [<0.0005 [<0.002 | 0.0008 | — — — — —
85 M H i — — — — <0.0002 [<0.002 [<0.004 [<0.002 [<0.002 [<0.0005 | 0.002 | 0.0006 | — — — — —
86 |/t — — — — — — — — — — — — 13 13 <0. 002 — —
87 [/ H:ihi — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | 0.0002 [<0.001 | 0.0083 | — — — — —
88 [/ Ftifi — — — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 [<0.0002 | 0.001 | 0.0075 | — — — — —
89 |/l — — — — — sl ) e 2 e ) [ O e 2 e ) e @2 | — — — — —
90 /N FTH — 0. 003 — — — — — — — — — — — — — — —




# 3 P2 2Rk R R A U E R R VNN B BB R A T
(AT - mg 1)
R L A _ | mE R R O R Y
No. | #I & & Al POt fL 11’:(11;:;_/; VA1, 2—|hVA-L, 25 11’)1’711;1:!]\ l\:z\:ut;lri —;12;; A s | o | 139 E
| ’ 7 7 A IR Ly R Al Al NP v Lo M | R e o
TFLy|=FLry AR =R

91 | A B — — — 0.0036 | 0.024 | 0.024 [<0.0002 | 0.0005 | 0.31 0.0050 | — — — —
92 | H BFH — — — 0.0027 | 0.022 | 0.022 [<0.0002 | 0.0009 | 0.032 | 0.013 — — — —
93 | H BT — — — — — — - — — 10 10 <0. 002 -
94 |E4yFH — — 0.0003 | 0.0033 | 0.0035 | 0.0033 [<0.0002 |<0.0002 | 0.11 0.0010 | — — — —
95 |[E 4y =Fh — — <0.0002 [<0.0002 [<0.0004 [<0.0002 [<0.0002 [<0.0002 |{<0.001 | 0.0039 | — — — —
96 |[E7if — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | 0.0002 |{<0.001 | 0.0061 | — — — —
97 |[E — — — <0.0002 | 0.0015 | 0.0013 |<0.0002 |<0.0002 {<0.001 [ 0.028 — — — —
98 |~z — — — <0.0002 | 0.0026 | 0.0024 |<0.0002 |<0.0002 | 0.001 [ 0.043 — — — —
99 |[E7 — — — — — — — — — 7.1 7.1 <0.002 —
100| 37T T — — — — — — — — — — 12 12 <0. 002 —
101 | 33T ii — — — <0.0002 | 0.0005 | 0.0003 |<0.0002 | — <0.001 | 0.014 | — — — —
102 | B AT — — — 0.0013 | 0.0026 | 0.0024 [<0.0002 | 0.0005 | 0.027 [<0.0002 | — — — —
103 | R FnT — — — — — — - — — 11 11 <0. 002 -
104 |5 AT — — — — — — — — — — o 2 e 2 e 2 —
105 | 1T — — — — — — — — — 9.1 9.1 <0. 002 —
106 |V i1 — — — — — — — - — — 9.6 9.6 <0. 002 —
107 | BB K — — — <0.0002 | 0.0004 | 0.0002 [<0.0002 | 0.0005 | 0.001 | 0.0034 | — — — —
108 | s kA (L i — — — <0.0002 [<0.0004 [<0.0002 [<0.0002 | — <0.001 0. 020 — — — —
109 [ AT (L — — <0.0002 [<0.0002 | 0.0008 [ 0.0006 [<0.0002 | 0.0028 | 0.001 | 0.0015 | — — — —
110 | @RS (LT — — <0.0002 [<0.0002 | 0.0016 [ 0.0014 [<0.0002 | 0.0032 | 0.001 | 0.0023 | — — — —
1115 & 28510 — — — <0.0002 [<0.0004 [<0.0002 |<0.0002 | — <0.001 | 0.011 — — — —
12| A ¥ — - - - - - - - - - AR ) [ OF2) | s 0F2) —
1135 & 2851l — — — — — — — — — 8.8 8.8 <0. 002 —
114|785 5T — — — <0.0002 [<0.0004 [<0.0002 |<0.0002 |<0.0002 |{<0.001 [ 0.020 — — — —
115| 78 # il — — — <0.0002 | 0.0006 | 0.0004 [<0.0002 | 0.0007 |{<0.001 | 0.014 | — — — —
116 75 H — — — — — — — - — — 6.5 6.5 <0. 002 —
117 | P8 5T — — — <0.0002 | 0.0008 | 0.0006 |<0.0002 | 0.0008 | 0.001 [ 0.013 — — — —
118 | Hi iy — — — <0.0002 [<0.0004 [<0.0002 |<0.0002 | — 0.001 | 0.0052 | — — — —
119 [ HiFEmT — — — — — — — — — 10 10 <0. 002 —
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FL | ZFL v R =R
TE H 10 s R 1 8 1 5 19 64 64 64 64 40 64 64 33 32 32 1 0
THH BIERKIRE [<0.01 0.012 | 0.08 0.065 | 0.0081 | 0.015 0.44 0.44 0. 002 0.0097 | 0.49 0.25 65 65 0.10 0. 90 —
BB B L VR I 0 1 1 5 1 0 4 — 0 6 27 13 — — 1 0
D EFFA
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